OHMS LAW

Ohms = Volts/Amperes (R = E/l)
Amperes = Volts Ohms (| = E/R)
Volts = Amperes x Ohms (E = IR)

POWER — A-C CIRCUITS
746 x Qutput Horsepower
Input Watts

Efficiency =

Three-Phase Volts x Amperes x Power Factor x 1.732

Kilowatts - 1000
Three-Phase Volt-Amperes = Volts x Amperes x 1.732

Three-Phase 746 x Horsepower

Amperes = 1.732 x Volts x Efficiency x Power Factor

Three-Phase 746 x Horsepower

Efficiency = Volts x Amperes x Power Factor x 1.732
Input Watts

Three-Phase Power Faclor = Voils x Amperes x 1.732

Single-Phase _ YoIts x Amperes x Power Factor

Kilowatts £ 1000

Single-Phase _ 746 x Horsepower

Amperes ~ Volts x Efficiency x Power Factor

Single-Phase 746 x Horsepower

Efficiency = Volts x Amperes x Power Factor
Input Watts

Single-Phase Power Factor = Volts x Amperes

Ho: sepower _ YOIs x Amperes x 1.732 x Efficiency x Power Factor
(3Phase) ~ 746

Horsepower _ Yoits x Amperes x Efficiency x Power Fact
(1 Phase) - 746

POWER — D-C CIRCUITS
Watts = Volts x Amperes (W = El)

Walts
Amperes = m (I = WIE)

Volts x Amperes x Efficiency
Horsepower = 746

SPEED — A-C MACHINERY
Hertz x 120

Synchronous RPM = Poles

Synchronous RPM - Full-Load RPM
Synchronous RPM

Percent Slip = x 100



